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EXAMINATION FOR INSURANCE SURVEYORS

FIRE INSURANCE .
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Answer eight Questions only. Question one carries 16 Marks but this is not compulsory.
All other questions carry 12 marks each.
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1. ‘Antoward furnishes’ have insured all their furnitures and interior 16
decorations of their showroom for an amount of Rs.10 lacs. They removed
all stocks from the showroom and set fire to it. They claimed full sum
' insured as the loss amount. = -~ : ' -
How will you deal with this case? Which policy condition comes to your
aid in dealing with fraudulent claims? ‘
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2. Describe the scope of the cover under Riot, strike and malicious damage . 12
endorsement at;ached to a Fire policy.
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3.. What are the qu{cial provisions of Reinstatement value clause? 12
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- @) Give definition of Proximate cause, A IR 6 each -
b) Whatis the importance of Proximate cause in fire insurance, _ '
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Explain the following;:- _ ‘ 6 each
a)  Implied conditions related to Fire insurance. . . '
b) Classification of Fifteen conditions of the fire policy into three groups.
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Speci‘fy tﬁe.contgnts of a final survey Report of Loss Assessment, - B 12
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Apportion the loss amount on Ihdependcrit Liability under the following 12
2 policies:- . . o

Policy ‘A’ - covers stocks only for Rs.1,00,000 © -

Policy ‘B’ - covers machine;y & stocks for Rs.2,00,000 .

Value of stocks is Rs.1,00,000 and machinery value Rs.2,00,000

The loss on stocks is Rs.75,000 and on machinery Rs.1,00,000.
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What are the benefits available to the insured by taking following policies: §each
a) Declaration Policy o :

~b) Floater Policy .

10.

%) i T e ) (57 % 6 57%)

9 -mwﬁmmwﬁﬁmﬁmmm%

10.

a) Give the meaning of ‘FIRE’ in insurance contract. 6 each
b) Mention Incidental damages covered following ‘FIRE'.




